PARTS LIST
24 ITEM[ QTY | PART NO. PART DESCRIPTION LENGTH | UNITWT. | NETWT.

h (ADJUSTABLE) ﬂ 1 | 6 | xupc2 LARGE PIPE TO PIPE BRACKET 131/2in 2.37 14.23
2 | 2 | GRS12-3 [ 11-3/4" WIDE 1-1/2" CHANNEL 14 GA. 8-DIAMOND GRIP STRUT 24.40 48.80

T 3 [ 8 CA12 1/2" CLIP ANGLE 2in 0.71 5.70

4 | 20 | G12Fw 1/2" HDG USS FLATWASHER 3/32in 0.03 0.68

5 [16 [ etaw 1/2" HDG LOCKWASHER 1/8in 0.01 0.22

6 | 16 | G12NUT 1/2" HDG HEAVY 2H HEX NUT 0.07 115

7 [ 2 | G12r20 1/2" x 20" THREADED ROD (HDG.) 112 2.23

oan 1-1/4" TO 10" DIA. 8 | 32 | G3sFw 3/8" HDG USS FLATWASHER 0.01 0.38
TOWER LEG, OR 9 [ 8 G38LW 3/8" HDG LOCKWASHER 0.01 0.05

?RET,S; ANGLELEG 10 | 8 | G38NUT 3/8" HDG HEAVY 2H HEX NUT 0.03 0.27

4 | 12112 1/2" x 1-1/2" HDG HEX BOLT GR5 1/2in 0.15 0.59

2 | G12R-36 1/2" x 36" THREADED ROD (HDG.) 2.01 4.01

4 sQwas 3/8" SQUARE WASHER 2in 0.29 1.16

8 G3802 3/8" x 2" HDG HEX BOLT GR5 0.09 0.70

- TOTALWT.#|  69.65

DETAIL A

27
(ADJUSTABLE)

21 3/4"
(ADJUSTABLE)

TR
R

x4 *DETAIL B IS VIEWED FROM
" UNDERNEATH THE ICE SHIELD

LOOKING AT THREADED ROD
" CONNECTION.

TOLERANCE NOTES DESCRIPTION N fors:

TOLERANCES ON DIMENSIONS, UNLESS OTHERWISE NOTED ARE: MINI g.rE l Engineering  Atlanta, GA

SAWED, SHEARED AND GAS CUT EDGES (£ 0.0307) ICE SHIELD RO Support Team:  Los Angeles, CA

DRILLED AND GAS GUT HOLES (#0.030") - NO CONING OF HOLES 24" X 24" TYPICAL . 1-888-753-7446  Flymouth,

LASER CUT EDGES AND HOLES (£ 0.070") - NO CONING OF HOLES A valmont WP covANY Dallas, TX

BENDS ARE & 1/2 DEGREE

ALL OTHER MACHINING #0‘030'7 CPD NO. DRAWN BY ENG. APPROVAL PART NO. -

ALL OTHER ASSEMBLY (£ 0.060") CEK  1/22/2013 MIS-24 o3

:Hﬁgmammﬁ INTHIS DRAWING VALMONT CLASS| SuB | DRAWING USAGE CHECKED BY DWG. NO. m %
-

NDUSTIIES AND CONSIDERED A TRADE SECRET. ANY o | 81|02 SHOP BMC  2/7/2013 MIS-24




